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1. Economics is the study of
(a) production methods. (b)  how society manages its scarce resources.
(c) how households decide who performs which tasks. (d)  the interaction of business and government.

2. Efficiency means that
(a) society is conserving resources in order to save them for the future.
(b) society's goods and services are distributed equally among society's members.
(c) society's goods and services are distributed fairly, though not necessarily equally, among society's members.
(d) society is getting the maximum benefits from its scarce resources.

3. Bagels and cream cheese are complements. We observe that the equilibrium price of cream cheese has risen but the equilibrium
quantity of bagels has fallen. What could be responsible for this pattern?
(a) A fall in the price of flour. (b) A fall in the price of milk.
(c) An increase in the price of milk. (d) A rise in the price of flour.

4. A subsidy is the opposite of a tax. With a $100 subsidy for the buyers of HIN1 vaccine injection, the government pays buyers $100 for
each HIN1 vaccine injection purchased. Because of the subsidy,
(a) Consumers are better off, because they consume more at a lower price.
(b) Producers are also better off, because they sell more at a higher price.
(c) The government loses, because it has to pay for the subsidy.
(d) Ail of the above are correct.

5. Recently, in Smalltown, the price of Twinkies fell from $0.80 to $0.70. As a result, the quantity demanded of Ho-Ho's decreased from
120 to 100. What is the cross-price elasticity? Using the midpoint method, compute this elasticity.
(a) 1 (b) 1.36 (c) 1.66 (d)0.2
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8. Suppose that in a year a Taiwanese worker can produce 100 shirts or 20 computers, while a Chinese worker can produce 100
shirts or 10 computers.
(a) For Taiwan, the opportunity cost of a shirt is 1/4 computer.
(b) If these countries were open to trade, Taiwan would export shirts.
(¢) If trade, the range of the price for 1shirt (in terms of computers) would fall between 0.1 of computer and 0.2 of computer.
(d) All the above statements are correct.

9. Consider trade relations between China and ASEAN (The Association of Southeast Asian Nations) countries. Assume that
the leaders of the two regions believe the payoffs to alternative trade policies are as follows:

China’s Decision
Low tariffs High tariffs
Low tariffs | China gains $30 billion China gains $35 billion
f‘,fﬁ;’;f,,’s ASEAN gains $30 billion ASEAN gains $15 billion
High tariffs | China gains $15 billion China gains $25 billion
ASEAN gains $35 billion ASEAN gains $25 billion
(a) The dominant strategy for China is high tariffs. (b) The dominant strategy for ASEAN is high tariff.

(¢) The Nash equilibrium is: both countries have high tariffs. (d) All the above is true.

10. For a profit-maximizing monopolist,
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13. Nominal GDP was $9,000 billion in 2011 and $9.200 billion in 2012. GDP deflator (base year 1996) was 118 in 2011 and 113 in 2012.
What was the real GDP in 20127
(a)_$8,203 billion_ (b) $8,142 billion (c) 7.600 billion (d) None of the above is true.

14. Taipei Corporation has an agreement with its workers to index completely the wage of its employees to the CPI.  Taipei Corporation
currently pays its production line workers $120 an hour and is scheduled to index their wages today. If the CPI is currently about 130 and
was 120 a year ago, Taipei Corporation should increase the hourly wages of its workers by about

(a) $0.63 (b) $12 (c) $10 (d) None of the above is true.
15. “Business cycles are caused by temporary but persistent productivity shocks”. This is the main argument of
(a) real business cycle theory (b) business cycle theory (c) Keynesian theory (d) None of the above is true.

16. A production function can be written as
(a)A=Y/F(L, K, H,N) (b) Y = CH+G+NX (©)Y=A/F(L, K, H,N) (dY=AxF(L,K, H,N)
I7. A company has an investment project that would cost $20 million today and yield a payoff of $10 million in four years. The interest rate
during this period is 10%. The present value of $10 million is
(a) 6.83 million (b) 14 million (c) 28 million (d) None of the above is true.

18. Suppose that the government borrows $100 billion more next year than this year in order to finance the subsidy for new born babies.
Assume other things being equal.  This new policy will

(a) lower consumption. (b) increase exchange rate. (¢) increase interest rate. (d) lower private saving.

19. When company executives buy and sell shares based on private information they obtain as part of their jobs, they are engaged in insider
trading. This fact violates
(a) the efficient market hypothesis.  (b) the law of supply and demand. (c) the classical dichotomy. (d) the free trade theory.

20. The Taipei Times cost $0.15 in 1970 and $2.00 in 2009. The average wage in manufacturing was $3.23 per hour in 1970 and $20.42 in
2009. By what percentage did the nominal wage rise?
(a) 1,333% (b)615% (c)532% (d)61.5%

21. Purchasing Mapagers' Index (PMI) is a composite of five of the survey indices. These are New orders, Output, Employment, Suppliers'
delivery times (inverted) and Stocks of purchases. An official estimation of China PMI in February, 2014 was 50. This implies that
the overall manufacturing activity is

(a) increased. (b) unchanged. (c¢) decreased (d) optimism._

22. Suppose GDP is $10 trillion, taxes are $1.5 trillion, private saving is $1 trillion, and public saving is $0.5 trillion. Assuming this
economy is closed, consumption is

(a) $8.5 trillion  (b) $1.5 trillion ~ (c) $0.5 trillion (d) None of the above is true.

23. Suppose that this year’s money supply is $1 trillion, nominal GDP is $40 trillion, and real GDP is $20 trillion. The velocity
of Money is

(a)30  (b)40 ()50  (d) None of the above is true. x
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